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Terziani's Maneuvre has solved clinically the problem of oncology for excellence: the early diagnosis of
cancer, starting from cancer Inherited Real Risk, effective tool to fight cancer (1). Due to no-local realm in
biological systems (2), in the health, intense digital pressure upon a pulp finger cannot bring about
immediately (after 3 sec.) Gastric Aspecific Reflex (= in the stomach both fundus and body dilate, while
antral-pyloric region contracts), that appears only after 20 sec.

On the contrary, in individual involved by cancer inherited Real Risk, the reflex happens after 3 sec. exactly,
showing an intensity of 0,5 cm. Such a intensity is higher in case of overt cancer in direct relation to the
cancer seriousness. (Fig 1 and 2)

Intensita
(incm)
a

3,5

3 SANO

2,5

]
05

3<D<4 Durata
0 +—

— ——— — — .
i 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20("1 secondi)

tempo di latenza = 10 secondi
Fig. 1

Immediately after having recognized the positive Terziani's Maneuver , the doctor can easily locate the
exact site of the cancer by the many signs of Quantum Biophysical Semeiotics (3-5).
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